Con. 43-186.

(3 Hours) [ Total Marks : 100

N.B. (1) Question No. 6 from Section - I and Question Ne. 12 from Section-1I are
Compulsory '
(2) Atterpt any three Questions from question Ne. 1 to 5 from Section-I and attempt
any three questions from question no. 7 te 11 from Section - IT
(3) Figures to the right indicate full marks.

Section I
1. Explainthe Violation of the ‘Rights of Children’. 412
2. Discuss the ¢ National Human Rights Commission” (NHRC). 12
3. Discuss “Climate Change’ as a cause of environmental degradation. 12
4. Explain the various types of Disaster. 12
5. Explain the relationship between ‘science’ and ‘technology’. 12
6. Write short notes on any Twe of the folléwing - - 14

(a) Barriers in Communication

(b) Characteristics of effective leadership
(c)  Safe ‘Drinking Water’ and *Sanitation’
(d) Rightto Eduacation Act (RTE)

(¢) The Domestic Violence Act - 2005

Section II
7. Explain the ‘Consumer Protection Act - 1986°. 12
8. Discuss in detail the Public Interest Litigation. i2
9. Explainin defail the various uses of ‘space technology’ 12
10. Explain the various applications of Information technology. i2
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11. Explain the major problems of ‘Mega Cities’ in India.

12. Write short notes on any Two of the following :
(a) Right to Information Act - 2005
(b) ‘Nano Technology’
(¢) Biocentrism
(d) Application of ‘Laser technology’
(&) Carbon bank and Carbon credit.
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(3 Hours)

N.B. (1) Al questions are compuisory.
(2) Wigures to the right indicate full marks.
(3) Answer of the both sections should be written in the same answer book.

Section - [

1. Explain the following terms (any five) i~

(a)
(b)
(c)
&)
(e

Advertising (f) Transitadvertising
Salesmanship (g) Buyingmotive
Publicity (h) Clutter

Media mix (i) Product research
TREP. ) ABC. |

2. Answer the following (any three) —

3.

(a)
(b)

(¢)
(d)
e
ey

Write
(a)
(b)
()
(d)

How does Advertising affect consumer price 7
Explain the effects of Advertising on
(i) Production cost (ii)  Distribution cost
" Explain the career options available in advertising field.
Explain the active participants in advertising.
What are the merits and demerits of Internet Advertising ?
Discuss the stages in the process of product life cycle.

short noies on (any twe) —
Features of advertising
Integrated marketing communication
Features of consumer bebaviour
Market segmentation.

PG-4002

[ Total Marks : 100
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Con. 45-PG-4002-16. 2
Section - I

4. Explain the following terms (any five) -

(a) AIDA formula (f) Window Display

(b) Logo (g) Hard selling skill.

(c) Brand Name (h) Advertising compaign
{d) Visualisation (i) Layout

(e} Copy (i) Headline.

| 5. Answer the following (hny three) -

(a) Explain the different types of consumers.

(b) What are the functions of illustration ?

(¢) Whatare the factors affecting advertising budget?
(d) Discuss the techniques of visualisation.

.(¢) Bring out the importance of research in advertising.

6. Write short notes on (any two) i—
(a) Slogan
(b) Mobile Advertising
(¢) Fantacy in advertising
(d) Typesof Headlines.
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Con. 46-16. PG-4277
(3 Hours) [Total Marks : 100
N.B. : (1) Attempt any five questions.
(2) Figares to the right indicate full marks.
1. (a) Who is a “company secretary” ? How he is appotnted ? 16
(b) Explain the liabilities of a company secretary. 10
2. (a) What is "Articles of Association” ? Describe its clauses. 10
(b) Describe the procedure for the formation of a Joint Stock Comparny. 19
3. (a) Explain the different types of shares. i0
(b) What is transfer of shares ? Describe the procedure of transfer of shares. 16
4. (a) What are the duties and powers of the chairman of a company meeting ? 16
(b) What are the rights and powers of an Auditor of a company ? i¢
5. (a) What are the duties and powers of a managing director 7 10
(b) Explain the different methods of voting. 10
6. (a) What is "statutory meeting" 7 When and how is if held ? 10
(b) How can membership of a company be acquired 7 10
7. (a) What is share certificate ? What are its contents ? 10
(b} What is the procedure for forfeiture of shares ? 16
8. Distinguish between any twe of the following - 20
(a) Private company and public company
(b) Interestand Dividend
(c) Ordinary Resoluiton and special resolution
(d) Agendaand minutes.
9. Give specimen of any twe of the following - 20
(a) Dividend Warrant
(b) Call Reminder
(c) Letter of Allotment
(d) Proxy form.
10. Write short notes on any four of the following :— 20

(a) Register of members (b) Prospectus
(c) Debenture capital (d) Annual Report
- (¢) Board meeting (f) Table A.
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PG-4823

(OLD COURSE)
(3 Hours) [Total Marks : 100

N.B.: (1) Attempt all questions.
(2) Figures to the right indicate full marks.
(3) Write the answer of both the sections in one answer book.

Section I

(a) Explain the following terms any five :— ' 10

(a) Novation {e) Quasi Contract

(b) Coercion (f) Pledge '

(c) Seller (g) Undue Influences

(d) Free consent (h) Endorsement in blank

Answer any three from the following :— 30
(a) Explain the concept of “Negotiable Instrument”. What are its features ?
(b) What are the various types of Bailment’s ?
(c) What is Offer and an Invitation to Offer ? State the essentials of valid Offer.
(d) State various modes of the discharge of contract.
(e) Define “Agreement”. State the essentials of valid agreements.
(f) What is Void Contract ? State the various types of Void Contract.

Write short notes on any two 1 — 10

(a)

Lalman v/s. Gauri Datt (¢) Lien

(b) Doctrine of Caveat Emptor (d) Types of Agents

Section I

Explain the following terms any five i— 10

(a)
(b)
(c)
(d)

Answer any three from the following \—

(a)
(b)
(c)
(d)

(e)
(£)

Prospectus (e) Consumer Dispute
Sale (f) Indoor Management
Promoter , (g) Appeals

Lifting the corporate veil (h) Model Bye-laws

' ' 30
What are the rights and duties of a partner under the partnership act, 19327
What are the various types of societies under Co-operative Societies Act 7 -
What is Memorandum of Association 7 Set out its importance and various clauses.
Discuss the three tire system of dispute redressal under Consumer
Protection Act. _ .
Briefly explain the classification of Companies under the Companies Act.
Discuss the provisions of competition Act and State the anti-competitive activities.

Write short notes on any two :—

(a)
(b)

1-§V-22-2-C-08-KP-4502 _

‘Unfair Trade Practices (c) Public Company and Private Company 10

Goodwill of a firm : (d) Appointment of Directors.
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Con. 44-PG-4823-16. 4
(REVISED COURSE)
(3 Hours) [Total Marks : 100

N.B. : (1) Attempt all questions.
(2) Figures to the right indicate full marks.
(3) Write the answer of both the sections in one answer book.

Section I
1. (a) Explain the following terms any five :— _ 10
(a) Agent (e) E-contract '
(b) Unilateral mistake (f) Symbolic delivery
5 : (¢} Noting (g) Warranty
o (d} Lien (h) Cross offer
- 2, Answer any three from the following :— 30
= 7 (a) What are the presemptions applicable to all the negotiable instruments under
Negotiable Instruments Act, 1881 ?
i : (b) Who is unpaid seller 7 What are the rights and duties of an unpaid seller ?
= : (c) What are essential features of contract of Indemnity ? -
! {d) What is frand ? What are its essential elements ?
(e) Distinguish hetween void contract and voidable contract.
i (f) Explain contract of guarantee. What are the various kinds of guarantees ?
3. Write short notes on any two :— 10
(2) Voidable agreement : {¢) Termination of agency
(b} Types of goods (d) Endorsement
Section II
4. Explain the following terms any five :— _ 10
(2) One man company’ (e) Ultra Vires
(b) Prospectus (f) Trader
(c) Design (g) Partnership deed
(d) Appeal (h) Dominant position
5. Answer any three from the following :— 30
(a) What are the anti competitive activities ?
(b) Define partnership and explain kinds of partnership.
(c) Explain the composition of State commission and National commission.
(d) Explain the difference between The Companies Act, 2013 and The Companies
; - Act, 1956.
. | (e) State and discuss the rights and liabilities of 2 member of a company.
B (f) What is the importance of memorandum of association and articles of association ?
6. Write short notes on any two :— 10
(a) Central consumer protection council (c¢) Forfeiture of shares :
(b) Minimum Subscription (d) Functions of SEBI
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Con. 42-186- PG-4234
(3 Hours) [Total Marks : 168
N. B.: (1) Questions Nos. 1 and 6 are compulsory.
(2) Attempt any two questions from remaining each section.
(3) Pigures to the right indicate full marks. '
Section I
1. (a) Explain the following concept (any four) :— i0
(i) Trade cycle (iv) Commercial Bank
(ii) National Income (v) Monetory Policy
(iii) Supply of Money (vi) Inflation
(b) Distinguish between (any twe) \— 8
(i) Demand pull inftation and Cost push inflation
(ii) Multiplier and Acceleration
(iii) Bank rate and Interest rate.
-2. (a) Discuss the c;ircular flow of Income in an open - economy. 8
(b) Explain the various phases of Trade Cycle. ' '8
3. (a) Define the various determinant factors of velocity of circulation of Money. 8

(b) Describe the Keynesian Liquidty Preference Theory of Rate of Interest.

4. (a) What are the objectives of Fiscal Policy.
(b) Define the General Equilibrium of economy with the help of IS-LM Model. 8

5 Write short note on any twe of the following \— , 16
(a) Theory of Multiplier
(b) Keynesiari approach to demand for money
(c) Causes of Inflation
(d) Assets and Liabilities of Commercial Bank.
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Section I1

6. (a) Explain the following concept (any four) :—
(i) Inclusive Growth (iv) Food Security
(i1} Human Development (v) NPAs .
(iii) MRTP Act ' (vi) Public Sector Banks

(b) Distinguish between (any two) :-—
(i) Primary sector and Secondary sector
(ii) Organised sector and Unorganised sector
(iii) Commercial Bank and Central Bank (RBI).

7. (a) Explain the changing sectoral composition of India's National Income.

(b) Discuss the various causes of unemployment problem in India.

8. (a) What are the causes of low agricultural productivity in India ?
(b) Define New Agricultural Policy 2000.

9. (a) Explain the various Banking sector reforms in India since 1991.
-(b) Examine the important developmental functions of the RBIL

10, Write short note on any two of the following :—

(a) Features of New Industrial Policy 1991

(b) Role of small scale éeptor in Indian economy
(¢) Public distribution system

(d) Recent changes in Monetary Policy.

10
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Con. 49-16. (ommerce  fap-T PG-4995
(OLD COURSE)
(3 Hours) [Total Marks : 100

N.B. : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Answer of both the sections should be written in the same answer book.

_ Section I
1. Explain the following terms in short (any five) - 10
(a) Business () Industry
(b) Merger () Diversification
(¢c) Foreign collaboration (g) Mission
(d) Privatisation (h) Turnaround.
2. Answer any three of the following - 30

(a) Discuss the functions of business.

(b) State and explain various components of external business environment.
(¢) Discuss the challenges before the Indian Entrepreneur. ‘

(d) Explain the types of foreign collaboration.

(¢) Discuss the steps involved in setting up of a business enterprise.

(f) What is Turnaround ? Explain the steps involved in Turnaround strategy.

3. Write short notes (any two) :- 10
(a) Concept of business
(b) SWOT Analysis
j (¢) Problems faced by woman entreprencur
'1 - (d) Human objectives.
| Section I

4. Explain the following terms in short (any five) - 10
(a) Merchant Banking (e) FDI
(b) Life Insurance (f)y Tourism
{¢) AirTransport (g) E-Communication
{(d) Ethics in Retailing (h) Insurance.

5. Answer any three from the following — ' 30
(a) State and explain the various types of Insurance. '
(b) Explain the recent trends in retailing sector in India.
(¢) Explain the role of banking institution.
(d) Enlist different forms of transport and explain it.
(e) Distinguish between organized retailing and unorganized retailing.
(f) What is E-banking ? Explain the advantages of E-banking.

6. Write short notes (any tweo) i0
{(a) Development Banking (¢) Ombudsman in Insurance
(b) B2B Communication : (d) Importance of Tourism.
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Con. 49(z)-16. 3 . PG-4995
: (REVISED COURSE}

(3 Hours) ' [Total Marks : 160

‘N.B. : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Tie the both sections together.

Section I

(a) Define the term business and explain the functions of business.
(b) Distinguish between economtic and social objectives of business.
(c) Explain the impact of Globalisation.

(d) State and explain the features of business environment.

1. Answer any two questions from the following :— 20

2. Answers any two questions from the following :— 29
(a) What are the factors of internal environment ? Discuss.
(b) Explain the main functions of WTGO.
(c) State and explain the steps in business planning process.
(d) - Discuss the factors which determining location of business.

3. Write short notes (any two) — . i6
. (a) Scope of business '
i : (b) Human Objectives ' ,
- (¢) Impact of Liberalisation
(d) Types of enfrepreneurs.
: Section II

4. Answer any two questions from the following — | 20
(a) State and explain the importance of service sector in India. ' -
(b) What are the factors responsible for the growth of organized Retailing in India ?
(¢) Distinguish between organized retailing and unorganized retailing.
(d) Discuss the advantages of credit card.

5. Answer any two questions from the following — 20
(z) State and explain the importance of Networking. o
(b) What are the importance of B-Commerce ? Explain it.
(c) Discuss the advantages of online marketing rescarch.
(d) Explain the benefits of B2B transactions. -

6. Write short notes (any twe) — i¢
(a) Principles of service marketing
(b) MallManagement:
(c) Advantages of delit card
(d) _Positivé impact of FDL

[TURNOVER
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Con. 48-16.

3 Hours)'

N.B. {1) All questions are compuisory.
(2) Figures to the right indicate full marks.
(3) Write the answers of both sections in same answer book.

Seetion - [

1. Define any five concepis —
(a) Scalar chain (b) Unity of command

(¢} Order (f) Corporate Governance
(g) Stress (k) Decentralization.

5. Answer any three of the following -~
(a) What is management 7 Discuss its importance.
(b) Describe various functions of management.
(c) Explain various steps in planning process.
(d) Explain in brief various types of organisations.
(e) Briefly describe various barriers in Delegation of Authority.
(f) Discuss various causes of Stress.

: 3. White short notes on any two of the following :—
t (a) Managerial Skills.
; (b) Components of Planning
(c) Modern techniques of Decision Making
(d) Advantages of Span of Control.

& Commerce ., fap. =TT

PG-4537

[ Total Marks : 108

10

(¢) Line Organisation (d) Knowledge Management

30

10
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Section - II
4. Explain the following terms (Any five) i~ 10
(a) Routing (b) Economic Order Quantity

L (c¢) SixSigma (d) Kaizan Concept
(¢) Money market (f) Secondary Market
K (g) Stock Exchange (h) Quality.

5. Answer any three of the following - - 30

(a) Discuss various factors influencing productivity.

(b) What is Inventory Control ? Discuss its objectives.

{¢) Describe the process of Quality Circles.

(d) Explain the significance of Service Quality Management.

(e) Explain the term Lease Financing. Discuss various types of Lease Agreements.
(f) Define Venture Capital. Explain its advantages to the company.

6. CaseStudy — | 10
Mr. Patel wants to trade on Stock Exchange, but he is afraid due to the fluctuation in stock

market. You are a financial expert ; he seeks your advice about the control by SERT -
(a) Explain in brief guidelines issued by SEBI in connection with'stock market trading. 5
{(b) Is it safe for Mr. Patel to trade in the stock market after protection given by SEBL. 5

*******‘*************
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Con. 47-16. PO(P-—]I PG-4128

( 3 Hours ) [ Total Marks : 100

N.B.: (1) All questions are compulsery.
(2) Figures to the right indicate fuil marks.
(3) Workings notes should form the part of your answer.

1. Followingi

: ‘ Section I
s the Trial Balance of Ganga and Godawari Partnership firm. The frial balance 1 8

-~ of their Firm as on 31% March, 2016 was as follows -—

Trial Balance as on 315 March, 2016

Particulars ‘ 4 Particulars - ¥
Stock. (1-4-2015) 80,000 . Sales 7,68,000
Purchases 4,00,000 Creditors 60,000
Return Inwards 30,000 {1 12% Bank Loan 1,50,000
Carriage 7,500 taken on 1-10-2015
Power & Fuel 40,000 Commission. 12,000
Wages o 35,000 Capitals :
Trade Expenses 8,000 Ganga 2,50,000
Debtors 80,000 Godawari 1 2,00,000
Salaries : 72,000 . Gauri 50,000
Insurance 6,000
Postage 3,000
Commission o 8,000
Plant & Machinery 2,00,000
‘Furniture : 80,000
-Advertisement 15,000
Building 4,00,000
-Cash in hand 7,500
Drawings: ;
Ganga . 8,000
Godawari . 10,000
| ' 14,90,000 14,960,006
‘Adjustments : _ '
: 1. Closing Stock was valued al Cost Price 7 1,00,000. Market Price ¥ 1,20,000.
" 2. Depreciate Plant & Mchinery and Building @ 20% & @ 10% respectively.
3. Prepaid Insurance ¥ 1,500. o ‘
4. Goods withdrawn by Ganga for her personal use of T 10,000 during the year were
not recorded in the books. '
5. Rcsérve for Doubtful Debts is to be maintained at 5% on Debtors.
6. Partners share Profits & Losses equally.
7 - Gauri retired from partnership firm as on 3 1.03.2016 and balance standing to her
capital account is to be transferred to her loan A/c.
Prepare Trading, Profit & Loss account and Balance sheet as on 3 15t March, 2016. -

_ : { TURN OVER
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2. (a) State whether the following statements are True or False :-

(i) R.D.D is provided on Debtors.
(i) Goodwill is an intangible asset of the business.
(tii) Dissolution of parinership firm means complete closure of partnership business.
(iv) Profit & Loss Adjustment A/c is also known as Revaluation A/c.
(v) AS-41 deals with amalgamation.

- (vi) Return inward is deducted from purchases.

(vii) Partners Liabilities are external liability.

(viii) Goods distributed as free sample should be credited to Profit & Loss A/e.

(b) Fill in the blanks :
(i) Increase in value of assets should be .............. to Profit & Loss Adjustment A/c.
(i1} Credit balance in Revaluation account is ..............
(ifi) Inthe absence of any agreement partner are entlﬂed to receive ..o
% 1interest on their loans. |

(iv) In case of dissolution, assets and liabilities are transferred to ................. Alc.
(v) The balance in capital account remains constant under ............... capital method..
(vi) Excess Capital method is used in .......ccceeneeee Distribution of cash.

(vii) On amalgamation, old firms are ............ _
(Viii) To display list of inventory in tally the key pressed 1 S e .

3. A,BandC d1ssolved their firm on 31% March, 2016 when their Balance sheet stood

as under -
~ Balance Sheet as on 315 March, 2016
Liabilities T Assets - z

Partners Capital : ‘ Sundry Assets 10,00,000

A 2,40,000 Bank 56,000

B 1,92,000 - '
4C ' . 1,60,000
| Loans ' 1,44,Q00

Creditors : 3,20,000

19,56,000 10,56,000

N . The partners shared Profits and Losses in the proportion of 2 : 1 : 1. Show the
S distribution of assets amongst the partners as and when realized. S

I Realisaion ¥ 2,00,000
ond Realisation ¥ 3,92,000
3% Realisation = T 3,20,000

OR
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3. Ram and Dev were carrying on business of supply of stationery items as sole traders. 16 .
Their Balance Sheet is as given below. '
Balance Sheet as on 31% March, 2016.

Liabilities Ram Dev Assels Ram Dev
Capital Accounts 1,50,000 2,00,000 | Fixed Assets © 80,000 1,00,000
Bills Payable 1,00,000 80,000 | Stock 1,00,000 50,000
Bank Overdraft 50,000 | ———— | Debtors 1200000 | =] 1080
(Cash Balance e 20.000
Total : 3,60.,000 2,880,000 3,800,009 2.80,000 )

Both the parties decided to amalgamate their business and form a new partnership firm
under the name of M/s. R & D Co. on 15t April, 2016. The terms of amalgamation
were as follows :—

(1) Fixed assets were reduced by 10%.

(2) Stock of Dev to increase by 10%.

(3) Stock of Mr. Ram to be reduced by 20%. R

(4) A reserve at 5% to be created against debtors. £ °

(5) Both parties to be credited with goodwill of 50,000 each.

(6) The bank overdraft of Mr. Ram is to be paid by him privately.
You are required to prepare :

(1) Statement of Purchase Consideration.

(2) Necessary Ledger Account in the books of Ram and Dev.

SECTION-IE .

4. A fire occurred in the premises of Mr. Ravindra on 15% QOctober, 2015. From the 18
following particulars ascertain the loss of stock and prepare a statement of claim to

be lodged with insurance company.

, Particulars k4

Stock (1-4-2014) 1,98,000

Stock (31-03-2015) ' 2,42,000

Purchase for the year 2014-15 6,40,000

Sales for the year 2014-15 8,00,000

Purchase (1-4-2015 to 15-10-2015) 6,00,000

Sales (1-4-2015 to 15-10-2015) 7.,58,000 :

The policy amount was ¥ 2.00,000. The stock salvaged was worth ¥ 35,600. The
claim was subject to average clause. ' -

5. (a) State whether the following statements are True or False -
‘ (i) Profit on cancellation of own debenture is capital profit.
(i) Salvage = Stock on the date of fire - Loss by fire.
(iii} A debenture issued at a par can be redeemed at premium.
(iv) Memorandum Trading Alc is always prepared upto the date of fire occurred.
. < (v) Ctrl + C to select the Budget.
i (vi) Partly paid up preference shares can not be redeemed.
~(vii) Salvage means goods lost by fire. .
(vili) The debenture can be redeemed whenever company desires.

@ |  {TURN OVER
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(b} Fill in the blanks with suitable option given below :— - 8
(i) Gross profit ratio is applied to sales in the &/c to calculate balancing figure
of closing stock.
(a) Memorandum Trading A/c., (b) Trading, (c) Profit & Loss A/c
(i) Sales ¥ 2,00,000; Purchase ¥ 1,30,000; wages X 18,000; Closing Stock
g 22,000; Opening stock ¥ 20,000. What was the Rate of Gross Profit.?

- (a) 27% (b) 25% (c) 29%. :
- (iii) To print reports we use key in Tally. , : '
() Alt+P  (b) Shift+P (c) Ctrl+S

o : _ (iv) Dividend is calculated on preference share capital on.............. .
- (a) Face Value (b) Market Value (c) Paid Up value.
(v) Capital Redemption Reserve may be used for issuing ............... shares.
{(a) Bonus Shares : (b) Preference Shares (¢) Right Shares
(vi}- Preference shares can be redeemed .............. . '
(a) out of proceeds of fresh issue and/or profit otherwise available for
distribution by way of dividend.  (b) out of profitonly  (c) out of proceeds
~ of fresh issue only _
(vii) A company can issue redecmable preference shares ............ .
(a) only at par (b) only at premium (c) only at discount (d) all of the
above. " '
_(viii) Premium on redemnption of debentures appears on ........ side of the balance
: sheet till the date of redemption. o . ‘
(a) Liability ~ (b) Assets (c) None

. 6. Following is the summarized Bglance sheet of Sun Ltd. as on 3 15t March, 2016. 16
Liabilities i T T Assets <
20,000 Equity shares of T 100 20,00,000 | Fixed Assets 40,00,000
each fully paid : Investment - 4,00,000
10,600 Redeemable Preference 10,00,000 | (Market Value T 4,40,000)
| shares of ¥ 100 each Current Assets : :

Capital Reserve 2,00,000 | Stock 7,00,000
Share Premium 2,00,000 | Debtors ' 7,00,000
General Reserve 4,00,000 | Bank Balance 2,00,000
Profit and Loss o 2,00,000 :

Creditors ' : 20,00,000 _

60,000,008 60,060,000

Redeemable preference shares are to be redeemed at a premium of 10%. Fresh issue -
of Equity Shares to be made to the extent required in terms of provision-of companies
Act 1956. All investments to be sold at the market value. Temporary Bank overdraft
was to be arranged in case of shortage of funds.
Company redeemed the Preference Shares on 15t April, 2016 except one shareholder
~ holding 400 preference shares, who could not be traced. Subsequently company issued
bonus shares in the ratio of one Equity Shares for every four equity shares held.
" Pass Journal entries to'record the above transactions and prepare a Balance Sheet.
. . OR : '
6. Ason 1% April, 2013 Telco Ltd. issued for ¥ 40,00,000 15% debentures of T 100 16
** each at par redeemable at a premium of 10%. 60% of the debentures are to be redeemed
at the end of 2™ year'and the balance at the end of the 3" year. The board has decided
to transfer minimum required amount to D.R.R. at the end of the first year.
Pass journal entries during the years of issue and redemption of debentures.
Ignore interest and loss on issue of debenfures. e '




